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i) 8 798 6,89 569 507 4,35 4 4 355 328 293 273 247 231 211 199 183 173 16
27,94 30 32 35 37 40 42 45 47 50 52 55

O 4 368 341 306 287 261 246 226 214 197 188 1,75
24 — 1704 20 22 25 27 306 311 32 35 37 40 42 45 47 50 m
i) 8 664 593 51 465 4 4 386 346 323 293 275 252 238 22 t

3199 35 37 40 42 45 47 50 m
juj 4 36 337 307 29 267 253 235 t
24— 1766 20 22 25 27 30 317 323 35 37 40 42 45 m
o 8 692 619 533 486 428 4 4 362 338 307 289 265 t
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ju ] 4 t
-

55m 16m 18,300 (4x3450)+(2x2250)
50m 16m 14 850 (3x3450)+(2x2250)
45m 13m 18300 (4x3450)+(2x2250)
40m 13m 17 100 (3x3450)+(3x2250)
35m 13m 14 850 (3x3450)+(2x2250)
30m 13m 13 800 (4x3450)
25m 13m 11 400 (2x3450)+(2x2250)
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